1. - €85 150N#355 1 * 2T = (5£3 hB % A-B-CRp tlrBlorm2 KTt %

¢ sra=180mm ~ b=120mm ~c=240mm > ¥ £ 4 > % S LB 5 T O R REEB 2 AL 3R 4 o
(20%)

2. - BERF Wi a L@ B % AB~CD R X f54 o 3 p o 48 B (free body
diagram) - 3> 5 & % CD tere ™ & ik jR T o3k 4
(@) ®% AB AT 473 > SRARHE L T ok (8%)
(b) &% AB R XA T #rerme @ » 4 RAf L4 £% o (12%)

3. HRELBLA B ﬁ%ﬁii"

* 2_(1)-X 4 i % (permanent joint)£2 (2) 25k 4 & &
(non- permanentjomt)" ERE L I ];ﬁ, A

Rt rpE 2 R4 R o (20%)
4 HENI O EEBONE S E o TRP A1 hE g (20%)

5. GBIP o FAIFFAURGEE A LA G A RPR AP S PR 7 (20%)



2. - BEEZ WIS iF ke hB 2 AB-CDR X o - 374 o J 42 Bl(free body
diagram) » 3+ § &% CD &0 ™ A f kT ek 4
(8) B2 AB 49 %ra > TRAREE . T frpE o (8%)
(b) ®% AB R AT $Terpsil » $ BAg 14 7% o (12%)

300 FCD I:CD
FAB 150 150
750 M
w W

(a) Static equilibrium:

{ Fag C0S30° + Fep COS15° =W

. . = Fo (00315° sin30° +sin15° cos 300):W sin30°
- FAB Sin 300 + FCD S|n150 = 0

= Fep =3 _ W _ 7071w
sind5° 2
(b) Kinetic equilibrium:
> R =ma = Wcos75° =ma,
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ZFn:man:mVE:O = Fop-Wsin75°=0 = Fop =Wsin75° =0.9659W




